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XA RS X e XHRAE
6A5H E = 10,000 A |EMKEERMREBREIELSHNESR
6A7H =& 10, 000 [ |[sh=zsERmsssxpRmESERABIc AT ERXHRE
68118 =& 3,000 A [XHREBRBYERMEREOS
6A13H 2N 4,500 H |%ERPROEHDHK
6A148 2N 4,500 H |%ERPROEHDHK
68148 iS5t 10,260 M [# ) Y E v I ZBESHORK
68178 =& 6,000 M [HAZREXRH
68228 ) 7,500 A |H#ESRP ROE=HDREK
68218 Z D1t 1,836 F|100&%LL LD A DFE R DR
68228 iS5t 34,500 M |HERP RO=HDHNK
68238 & 5,000 M [fRETRBERLIEEEERBBRLS
68268 & 10,000 A |#FFrLtXOLAREFEHRR
6A28H T Dth 4,800 [ [FE#R LI RRERHEERRS
6A30H = 20,000 A [FH28FEEXHEAREAERE
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